KDMAGZ
® Az K & 50,
® R IAEAEA0C | 5° | 15° =A%,

W B EREEH R 58 4 ] 4544

S .
R Tl apnm
T
s
; — AR )
3 %%1.015 BHR(T) -
= e
= 1.6
1.6
— R
HPEEML AT RN T

@ AR/EAr T /(1007 K)19.2KN

® Zifm I H1(307% X)39.2KN.,

® B3k Fu AT LA E] FR A 0.01 ~ 0.015mm

© KAz 7E S o B BLIR ) He (3% ) 15 =) 38 69 18] IR A 1.0mm

B KDMABYZ1aFniRfE. 26

® KDMAW I it 77 %

1. BT®, WO L#H TOOH@,

2. M Edhd F,

@ KDMA# ¥ Bt 7 %

13 5 5 fi A8 BAD RT3 B

® A HINEHHIEAT LM air LiE
TR TR AT R A

& T xR S fe LR E 0 8] R AT 22 R 0k
Z AN P 6 5 e AT R

S, KBE, BANEERELEILEE
ﬁ%’%’i‘o




KY

Die Mounted Can Unit

4 N
50(W)
g
B TR
Table of Components
fe|  em | SEEEE
No Description Qty Remark
@ ?airﬂn%lider U ez
@ (-I;;E%Iider(mwer) 1145
® %ﬁcﬁilig‘%)ﬁng 2 |TL22-90
5323
® Cam Holder 1|45
@ -Elf(l':le Bar 1 |$A&% Bronze
Eis
Cazrjjn%river i ||fAneD
@ E’%ﬁji%%tum Follower 1145
Hex;:\gﬁ%%ﬂ.e!Head Bolt 6 |M8x40
@ Hex;:\gﬁgé%ﬂ.e!Head Bolt 2 [M10X30
@ He;ﬁ%%ﬁl;mead Bolt 1| M8x18
4
® Eﬁng Guide Pin | 2 |45
-
mIAh HEN
Working Force kN(tonf) Spring Force N(kgf)
=5 5 RER 5 W 6 1TH2 SANKYO
FRAEMI A £¥EMIA Total%ﬁght Cat:fE;gNo. e T{rTaTril S Xt B
(10073 [&]) 3073 ) HE RE kg S | catalog No.
Standard Working Force |Allowable Working Force; Initial Load Final Load
(one million strokes) (300,000 strokes)
19.6 39.2 108.6 651.6
(2.0) {4.0) (11.1) (66.6) 15.0 KDMA 50 00 30 CMSA
ord |Catalog No.| [(W)]-[(6)]-| S | B ¥ E Key Specification
raer
KDMA 50 - 00 - 30
Ems W
Optl on Option Code Specification
RS LB 013 A
N13 Dowel pin holes of cam holder and cam driver
are changed to 213.

Order KDMAS50-00-30-N13




Die Mounted Can Unit

e ~
50(W)
g
W TR
Table of Components
s o sy PRAEE
Nc?_ Descrié‘tion Qty M?ég';;?alind
BEIER
@ & Siider U || AesD
TR
@ Ceﬁ Slider(Lower) 1145
® %ﬂ’}fgﬁng 2 |TL22-90
® ga% Holder 1|45
@ ?U?(lie Bar 1 |$@4&% Bronze
Ca?lni%river 1| HT300
@ F’%ﬁ]iileLREetum Follower 1145
Ha)Z;\-g.)ﬁms%fkTe!Head Bolt 6 | M8x40
@ He)@&%%ﬁ(lemead Bolt 2 |M10%30
@ mgﬁ%%ﬁ{amead Bolt 1 [M8x18
EEL
® é!;)ring Guide Pin 2 (45
N
 mIA %l
Working Force kN(tonf) Spring Force N(kgf)
= 5 <3 = W 2] 1718
FRAEMI S S¥FMIN Total%gght Cat:ﬁ;g?No. LD PO ‘Ifn?z;?/aél éﬁ‘%‘%‘ée KDMA
(10073 [21) (3075 ) HE LE kg S | catalog No. 50
Standard Working Force | Allowable Working Force| |niial Load Final Load
(one million strokes) (300,000 strokes)
19.6 39.2 108.6 651.6
(2.0) 4.0) (11.1) (66.6) 18.0 KDMA 50 00 60 CMSA
ord [Catalog No.| [(W)]-[(8)]-] S | B #i¥E Key Specification
rdaer

KDMA 50 - 00 - 60

BiNRS [GE
Option Code Specification
IREBR R A EL B 013 .
N13 Dowel pin holes of cam holder and cam driver
are changed to 213.

i
Order KDMAS50-00-60-N13




KY

Die Mounted Can Unit

e N
50(w)
D
o
B TR
Table of Components
g2 £ HE RN E
N:)? Descrir];tion Qty M?__‘t’ee;g‘laalﬁ(nd
@ ?airﬂn%lider U ez
@ (-I;;E%Iider(mwer) 1145
® %ﬁcﬁilig‘%)ﬁng 2 |TL22-90
5323
® Cam Holder 1|45
@ -Elf(l':le Bar 1 |$A&% Bronze
Eis
Cazrjjn%river Q=00
@ E’%ﬁji%%tum Follower 1145
Hex;:\gﬁ%%ﬂ.e!Head Bolt 6 |M8x40
@ Hex;:\gﬁgé%ﬂ.e!Head Bolt 2 |M10X30
@ He;ﬁ%%ﬁ{amead Bolt 1| M8x18
£
® Eﬁng Guide Pin | 2 |45
-
mIA HEN
Working Force kN(tonf) Spring Force N(kgf)
== 5 REE g W, 6 172 SANKYO
EMIA SAEMI A Totsl Weight Catgtk;gNo. Wy eyt Rextm
(10073 [2)) 3077 ) WE KE kg S Catalog No.
Standard Working Force |Allowable Working Force; Initial Load Final Load
(one million strokes) (300,000 strokes)
19.6 39.2 108.6 651.6
(2.0) {4.0) (11.1) (66.6) 20.0 KDMA 50 05 60 CMSA
ord |Catalog No.| [(W)]-[(8)]-| S | B ¥ E Key Specification
raer
KDMA 50 - 05 - 60
Eme W
Optl on Option Code Specification
RS RS EL B 013 A
N13 Dowel pin holes of cam holder and cam driver
are changed to 213.

Order KDMA50-05-60-N13




Die Mounted Can Unit

| KDMA50-15-30 |

e N
SO(W)
&
)
-
W THHER
Table of Components
g2 £ HE Mﬂ*ﬂﬁ'?}
N(ﬂ)-'T Description Qty M?__‘t’ee;g‘laalﬁ(nd
BENR
@ 'Cam Slider U | e
TER
@ |Cam Shider(Lower) | T |45
E e 5
® Coil gS%)ring 2 | TL22-90
5323
® Cam Holder 1|45
@ -Elﬁlie Bar 1 |$A&% Bronze
ORFER
Cam Driver 1| FwEee
|
@ E’%gtjiggtletum Follower 1145
Hex;:\gﬁ%%g(le!Head Bolt 6 |M8x40
@ Hex;:\gE%%g(Ie!Head Bolt 2 |M10X30
@ He;(a_\‘gﬁy’é%ﬁgmead Bolt 1 |M8x18
EE L]
® é%)ring Guide Pin 2 |
-
I H HEN
Working Force kN(tonf) Spring Force N(kgf)
= 5 REE RS W 6 1712 SANKYO
FRAEMI A £¥EMIN Total%ﬁght CatalogNo. L) ey Travel | REXPEE
(1007 &) (3077 [E]) WE EIE kg S Catalog No.
Standard Working Force | Allowable Working Force Initial Load Final Load
(one million strokes) (300,000 strokes)
19.6 39.2 108.6 651.6
(2.0) {4.0) (11.1) (66.6) 17.5 KDMA 50 15 30 CMSA

[Catalog NoJ [W)]-{(8))-[ & ]

Order
KDMA 50 - 15 - 30
BIN4RS N
Option ~ -Option Code Specification
BRBSRIE EESHFLE 013 A
N13 Dowel pin holes of cam holder and cam driver
are changed to 213.

Order KDMAS50-15-30-N13

W $i¥E Key Specification

KDMA
50




KY

Die Mounted Can Unit

4 N
SO(W)
&
)
W FE4R
Table of Components
g2 £ HE RN E
N:)? Descrir];tion Qty M?__‘t’ee;g‘laalﬁ(nd
@ ?airﬂn%lider U e
@ (-I;;E%Iider(mwer) 1145
® ‘éﬁf?ﬁng 2 |TL22-90
[
® Cam Holder 1|45
@ -Elf(l':le Bar 1 |$A&% Bronze
oK
Cazrjjn%river QNlhi=a0
@ E’%ﬁji%%tum Follower 1145
Hex;:\gﬁ%%ﬂ.e!Head Bolt 6 |M8x40
@ Hex;:\gﬁgé%ﬂ.e!Head Bolt 2 |M10X30
@ He;ﬁ%%ﬁl;mead Bolt 1| M8x18
4
® Eﬁng Guide Pin | 2 |45
-
mIAh HEN
Working Force kN(tonf) Spring Force N(kgf)
=5 5 REE =) W, 6 1712 SANKYO
WEMLY £EMIS Towaant | cavano. | | O |42 | A2I%
(10075 [2]) 30772 HE EE kg S | catalog No.
Standard Working Force |Allowable Working Force; Initial Load Final Load
(one million strokes) (300,000 strokes)
19.6 39.2 108.6 651.6
(2.0) {4.0) (11.1) (66.6) 22.0 KDMA 50 15 60 CMSA
ord |Catalog No.| [(W)]-[(6)]-| S | B ¥ E Key Specification
raer
KDMA 50 - 15 - 60
Ems W
Optl on Option Code Specification
RS S TL B 013 A
N13 Dowel pin holes of cam holder and cam driver
are changed to 213.

Order KDMA50-15-60-N13






